



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
1.	d)	If $(3+i)x + (1-i)y = 1+7i$ Find x and y	02
	Ans	$3x + ix + y - iy = 1 + 7i$ $(3x + y) + i(x - y) = 1 + 7i$ $3x + y = 1 \text{ and } x - y = 7$ $x = 2, y = -5$	<p>½</p> <p>½</p> <p>1</p>

1.	e)	Evaluate $\lim_{x \rightarrow 1} \frac{x^2 - 1}{x - 1}$	02
	Ans	$\lim_{x \rightarrow 1} \frac{x^2 - 1}{x - 1}$ $= \lim_{x \rightarrow 1} \frac{(x-1)(x+1)}{x-1}$ $= \lim_{x \rightarrow 1} x + 1 = 1 + 1 = 2$	<p>1</p> <p>1</p>

1.	f)	Evaluate $\lim_{x \rightarrow 0} \left[\frac{5 \tan x + 6x}{9x - 2 \sin x} \right]$	02
	Ans	$\lim_{x \rightarrow 0} \left[\frac{5 \tan x + 6x}{9x - 2 \sin x} \right]$ $= \lim_{x \rightarrow 0} \left[\frac{\frac{5 \tan x + 6x}{x}}{\frac{9x - 2 \sin x}{x}} \right]$ $= \lim_{x \rightarrow 0} \left[\frac{\frac{5 \tan x}{x} + 6}{9 - \frac{2 \sin x}{x}} \right]$ $= \left[\frac{5 + 6}{9 - 2} \right] = \frac{11}{7}$	<p>½</p> <p>½</p> <p>1</p>

1.	g)	Evaluate $\lim_{x \rightarrow 0} \frac{a^x - b^x}{x}$	02
	Ans	$\lim_{x \rightarrow 0} \frac{a^x - b^x}{x}$	



WINTER- 18 EXAMINATION

17216

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

Q. No.	Sub Q.N.	Answers	Marking Scheme
1.	g)	$= \lim_{x \rightarrow 0} \frac{a^x - 1 - b^x + 1}{x}$ $= \lim_{x \rightarrow 0} \frac{(a^x - 1) - (b^x - 1)}{x}$ $= \left[\lim_{x \rightarrow 0} \frac{a^x - 1}{x} \right] - \left[\lim_{x \rightarrow 0} \frac{b^x - 1}{x} \right]$ $= \log a - \log b = \log \left(\frac{a}{b} \right)$	<p>½</p> <p>½</p> <p>1</p>
	h)	<p>If $y = x \cdot \log x$ find $\frac{dy}{dx}$</p>	02
	Ans	<p>$y = x \cdot \log x$</p> $\frac{dy}{dx} = x \cdot \frac{1}{x} + \log x \cdot 1$ $\frac{dy}{dx} = 1 + \log x$	<p>1½</p> <p>½</p>
	i)	<p>If $y = \cos(\log x)$ find $\frac{dy}{dx}$</p>	02
Ans	<p>$y = \cos(\log x)$</p> $\frac{dy}{dx} = -\sin(\log x) \cdot \frac{1}{x}$	2	
j)	<p>Differentiate $\sin x$ w.r.t. 'log x'</p>	02	
Ans	<p>$u = \sin x$, $v = \log x$</p> $\frac{du}{dx} = \cos x$, $\frac{dv}{dx} = \frac{1}{x}$	½+½	
		$\frac{du}{dv} = \frac{\frac{du}{dx}}{\frac{dv}{dx}} = \frac{\cos x}{\frac{1}{x}}$	1



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q. N.	Answers	Marking Scheme
1.	j)	$= x \cos x$	
	k)	From the following system of Equations, $3x + 2y = 4.5, 2x + 3y - z = 5, -y + 2z = 0.52$ Find one iteration only using Gauss-seidal method.	02
	Ans	$3x + 2y = 4.5, 2x + 3y - z = 5, -y + 2z = 0.52$ $x = \frac{4.5 - 2y}{3}$ $y = \frac{5 - 2x + z}{3}$ $z = \frac{0.52 + y}{2}$ $x_1 = 1.5, y_1 = 0.667, z_1 = 0.594$	1 1
	l)	Show that the root of the equation $x^3 - 9x + 1 = 0$ lies bet ⁿ 2 and 3.	02
	Ans	$f(x) = x^3 - 9x + 1$ $f(2) = 2^3 - 9(2) + 1 = -9 < 0$ $f(3) = 3^3 - 9(3) + 1 = 1 > 0$ root lies in 2 and 3	1 1
2.		Solve any <u>FOUR</u> of the following:	16
	a)	Express $\frac{1}{2} + i \frac{\sqrt{3}}{2}$ in polar form.	04
	Ans	Let $z = \frac{1}{2} + i \frac{\sqrt{3}}{2}$ $x = \frac{1}{2}, y = \frac{\sqrt{3}}{2}$ $r = \sqrt{x^2 + y^2} = \sqrt{\left(\frac{1}{2}\right)^2 + \left(\frac{\sqrt{3}}{2}\right)^2}$ $= 1$	1



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
2.		$\theta = \tan^{-1}\left(\frac{y}{x}\right) = \tan^{-1}\left(\frac{\frac{\sqrt{3}}{2}}{\frac{1}{2}}\right)$ $= \tan^{-1}(\sqrt{3}) = 60^\circ \text{ or } \frac{\pi}{3}$ <p>In polar form,</p> $z = r(\cos \theta + i \sin \theta)$ $= 1\left(\cos \frac{\pi}{3} + i \sin \frac{\pi}{3}\right)$	1 1 1
	b)	<p>Simplify using De Moivre's theorem</p> $\frac{\left(\cos \frac{4}{3}\theta + i \sin \frac{4}{3}\theta\right)^3 \left(\cos \frac{1}{2}\theta - i \sin \frac{1}{2}\theta\right)^2}{(\cos 4\theta - i \sin 4\theta)(\cos 2\theta + i \sin 2\theta)^3}$	04
	Ans	$\frac{\left(\cos \frac{4}{3}\theta + i \sin \frac{4}{3}\theta\right)^3 \left(\cos \frac{1}{2}\theta - i \sin \frac{1}{2}\theta\right)^2}{(\cos 4\theta - i \sin 4\theta)(\cos 2\theta + i \sin 2\theta)^3}$ $= \frac{(\cos \theta + i \sin \theta)^4 (\cos \theta + i \sin \theta)^{-1}}{(\cos \theta + i \sin \theta)^{-4} (\cos \theta + i \sin \theta)^6}$ $= (\cos \theta + i \sin \theta)^{4-1+4-6}$ $= (\cos \theta + i \sin \theta)^1$ $= \cos \theta + i \sin \theta$	2 1 ½ ½
	c)	<p>By using De Moivre's theorem find "cube root of unity".</p>	04
	Ans	$x = 1^{\frac{1}{3}}$ $\therefore x^3 = 1$ <p>Put $x^3 = z \therefore x = z^{\frac{1}{3}}$</p> $\therefore z = 1 + 0i$ $\text{Re}(z) = 1, \text{Im}(z) = 0$	½



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
2.		$r = z = \sqrt{1+0} = 1$ $\theta = \tan^{-1}\left(\frac{0}{1}\right) = 0$ $z = r(\cos \theta + i \sin \theta)$ $z = 1(\cos 0 + i \sin 0)$ In general polar form, $z = r(\cos(2\pi k + \theta) + i \sin(2\pi k + \theta))$ $z = 1(\cos 2\pi k + i \sin 2\pi k)$ $z^{\frac{1}{3}} = (\cos 2\pi k + i \sin 2\pi k)^{\frac{1}{3}}$ $z = \cos\left(\frac{2\pi k}{3}\right) + i \sin\left(\frac{2\pi k}{3}\right) ; k = 0, 1, 2$ when $k = 0$ $z_1 = \cos 0 + i \sin 0 = 1$ when $k = 1$ $z_2 = \cos\left(\frac{2\pi}{3}\right) + i \sin\left(\frac{2\pi}{3}\right) = -\frac{1}{2} + i \frac{\sqrt{3}}{2}$ when $k = 2$ $z_3 = \cos\left(\frac{4\pi}{3}\right) + i \sin\left(\frac{4\pi}{3}\right) = -\frac{1}{2} - i \frac{\sqrt{3}}{2}$	1 ½ ½ ½ ½ ½
	d)	Show that $\sin 2\theta = 2 \sin \theta \cos \theta$ using Euler's form	04
	Ans	$\sin 2\theta = \left(\frac{e^{2i\theta} - e^{-2i\theta}}{2i}\right) \text{-----(1)}$ $2 \sin \theta \cos \theta = 2 \left(\frac{e^{i\theta} - e^{-i\theta}}{2i}\right) \left(\frac{e^{i\theta} + e^{-i\theta}}{2}\right)$ $= \frac{1}{2i} (e^{i\theta} e^{i\theta} + e^{i\theta} e^{-i\theta} - e^{-i\theta} e^{i\theta} - e^{-i\theta} e^{-i\theta})$ $= \frac{1}{2i} (e^{2i\theta} + e^0 - e^0 - e^{-2i\theta})$ $= \left(\frac{e^{2i\theta} - e^{-2i\theta}}{2i}\right) \text{-----(2)}$	1 1 OR 1 1
		by (1) and (2) $\sin 2\theta = 2 \sin \theta \cos \theta$	



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
2.	e)	If $f(x) = 50 \sin(100\pi x + 0.4)$, prove that $f\left(\frac{1}{50} + x\right) = f(x)$	04
	Ans	$f\left(\frac{1}{50} + x\right) = 50 \sin\left(100\pi\left(\frac{1}{50} + x\right) + 0.4\right)$ $= 50 \sin(2\pi + 100\pi x + 0.4)$ $= 50 \sin(100\pi x + 0.4)$ $= f(x)$	1 1 1 1
	f)	If $f(x) = \frac{x+3}{4x-5}$ and $t = \frac{3+5x}{4x-1}$ show that $f(t) = x$	04
	Ans	$f(t) = \frac{t+3}{4t-5}$ $= \frac{\frac{3+5x}{4x-1} + 3}{4\left(\frac{3+5x}{4x-1}\right) - 5}$ $= \frac{3+5x+3(4x-1)}{4(3+5x)-5(4x-1)}$ $= \frac{3+5x+12x-3}{12+20x-20x+5}$ $= \frac{17x}{17} = x$	½ 1 ½ 1 1
3.		Solve any Four of the following:	16
	a)	If $f(x) = x^2 + 5$, find x if $f(x+2) = f(x-2)$	04
	Ans	$f(x+2) = (x+2)^2 + 5$ $= x^2 + 4x + 4 + 5$ $= x^2 + 4x + 9$ $f(x-2) = (x-2)^2 + 5$ $= x^2 - 4x + 4 + 5$	½ 1 ½



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
3.		$= x^2 - 4x + 9$ $\therefore f(x+2) = f(x-2)$ $\therefore x^2 + 4x + 9 = x^2 - 4x + 9$ $8x = 0 \therefore x = 0$	1 ½ ½
	b)	<p>If $f(x) = 16^x + \log_2 x$ find $f\left(\frac{1}{4}\right)$</p>	04
	Ans	$f(x) = 16^x + \log_2 x$ $\therefore f\left(\frac{1}{4}\right) = (16)^{\frac{1}{4}} + \log_2\left(\frac{1}{4}\right)$ $= 0$	2 2
	c)	<p>Evaluate: $\lim_{x \rightarrow 0} \frac{\sin 2x^0}{x}$</p>	04
Ans	$\lim_{x \rightarrow 0} \frac{\sin 2x^0}{x}$ $= \lim_{x \rightarrow 0} \frac{\sin 2\left(\frac{\pi x}{180}\right)}{x}$ $= \lim_{x \rightarrow 0} \frac{\sin\left(\frac{\pi x}{90}\right)}{\frac{\pi x}{90}} \times \frac{\pi}{90}$ $= 1 \times \frac{\pi}{90} = \frac{\pi}{90}$	1 2 1	
d)	<p>Evaluate: $\lim_{x \rightarrow 0} \frac{\sqrt{1+x} - \sqrt{1-x}}{x}$</p>	04	
Ans	$\lim_{x \rightarrow 0} \frac{\sqrt{1+x} - \sqrt{1-x}}{x}$ $= \lim_{x \rightarrow 0} \frac{\sqrt{1+x} - \sqrt{1-x}}{x} \times \frac{\sqrt{1+x} + \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}}$	½	



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
3.	d)	$= \lim_{x \rightarrow 0} \frac{(\sqrt{1+x})^2 - (\sqrt{1-x})^2}{x(\sqrt{1+x} + \sqrt{1-x})}$ $= \lim_{x \rightarrow 0} \frac{(1+x) - (1-x)}{x(\sqrt{1+x} + \sqrt{1-x})}$ $= \lim_{x \rightarrow 0} \frac{1+x-1+x}{x(\sqrt{1+x} + \sqrt{1-x})}$ $= \lim_{x \rightarrow 0} \frac{2x}{x(\sqrt{1+x} + \sqrt{1-x})}$ $= \lim_{x \rightarrow 0} \frac{2}{(\sqrt{1+x} + \sqrt{1-x})}$ $= \frac{2}{(\sqrt{1+0} + \sqrt{1-0})}$ $= \frac{2}{2} = 1$	1 1 ½ ½ ½
	e)	<p>Evaluate: $\lim_{x \rightarrow 0} \frac{12^x - 4^x - 3^x + 1}{x^2}$</p>	04
	Ans	$\lim_{x \rightarrow 0} \frac{12^x - 4^x - 3^x + 1}{x^2}$ $= \lim_{x \rightarrow 0} \frac{4^x 3^x - 4^x - 3^x + 1}{x^2}$ $= \lim_{x \rightarrow 0} \frac{4^x(3^x - 1) - (3^x - 1)}{x^2}$ $= \lim_{x \rightarrow 0} \frac{(4^x - 1)(3^x - 1)}{x^2}$ $= \lim_{x \rightarrow 0} \left[\frac{4^x - 1}{x} \right] \lim_{x \rightarrow 0} \left[\frac{3^x - 1}{x} \right]$ $= (\log 4)(\log 3)$	½ ½ 1 2
f)	<p>Evaluate: $\lim_{x \rightarrow \infty} \left[\frac{x+1}{x+2} \right]^x$</p>	04	



WINTER- 18 EXAMINATION

Subject Name: Applied Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
3.	Ans	$\lim_{x \rightarrow \infty} \left[\frac{x+1}{x+2} \right]^x$ $= \lim_{x \rightarrow \infty} \left[\frac{\frac{x+1}{x}}{\frac{x+2}{x}} \right]^x$ $= \lim_{x \rightarrow \infty} \left[\frac{\left(1 + \frac{1}{x}\right)}{\left(1 + \frac{2}{x}\right)} \right]^x$ $= \lim_{x \rightarrow \infty} \frac{\left(1 + \frac{1}{x}\right)^x}{\left(1 + \frac{2}{x}\right)^{\frac{x}{2} \times 2}}$ $= \frac{e}{e^2}$ $= \frac{1}{e}$	<p>1</p> <p>1</p> <p>1</p> <p>½</p> <p>½</p>
4.	Ans	<p>Solve any FOUR of the following:</p> <p>a) Using 1st principle of derivatives find derivatives of $f(x) = \log x$</p> $\frac{dy}{dx} = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$ $\frac{dy}{dx} = \lim_{h \rightarrow 0} \frac{\log(x+h) - \log x}{h}$ $\frac{dy}{dx} = \lim_{h \rightarrow 0} \frac{\log\left(\frac{x+h}{x}\right)}{h}$ $\frac{dy}{dx} = \lim_{h \rightarrow 0} \log\left(\frac{x+h}{x}\right)^{\frac{1}{h}}$ $\frac{dy}{dx} = \lim_{h \rightarrow 0} \log\left(1 + \frac{h}{x}\right)^{\frac{x}{h} \times \frac{1}{x}}$	<p>04</p> <p>1</p> <p>1</p> <p>½</p> <p>½</p>



WINTER- 18 EXAMINATION

17216

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

Q. No.	Sub Q.N.	Answers	Marking Scheme
4.	a)	$= \log e^{\frac{1}{x}} = \frac{1}{x}$	1
	b)	<p>If u and v are differentiable functions of x then prove that</p> $\frac{d}{dx}[U.V] = u \frac{dv}{dx} + v \frac{du}{dx}$ <p>Ans Let $y = uv$</p> <p>Let $\delta u, \delta v, \delta y$ are small increments in u, v, y respectively corresponding to increment δx in x.</p> $\therefore y + \delta y = (u + \delta u)(v + \delta v)$ $y + \delta y = uv + u\delta v + v\delta u + \delta u\delta v$ $\delta y = uv + u\delta v + v\delta u + \delta u\delta v - y$ $\delta y = uv + u\delta v + v\delta u + \delta u\delta v - uv$ $\delta y = u\delta v + v\delta u + \delta u\delta v$ <p>$\therefore \delta u, \delta v$ are very small.</p> <p>$\therefore \delta u\delta v$ is negligible.</p> $\therefore \delta y = u\delta v + v\delta u$ $\therefore \frac{\delta y}{\delta x} = \frac{u\delta v + v\delta u}{\delta x}$ $\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = u \lim_{\delta x \rightarrow 0} \frac{\delta v}{\delta x} + v \lim_{\delta x \rightarrow 0} \frac{\delta u}{\delta x}$ $\frac{dy}{dx} = u \frac{dv}{dx} + v \frac{du}{dx}$	04
	c)	<p>Find $\frac{dy}{dx}$ if $y = x^x + a^x$</p> <p>Ans Let $y = u + v$</p> $u = x^x \quad v = a^x$ $u = x^x$ $\log u = \log x^x$ $\log u = x \log x$	04



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
4.		$\frac{1}{u} \frac{du}{dx} = x \frac{1}{x} + \log x \cdot 1$ $\frac{du}{dx} = u(1 + \log x)$ $v = a^x$ $\frac{dv}{dx} = a^x \log a$ $\frac{dy}{dx} = \frac{du}{dx} + \frac{dv}{dx}$ $= x^x(1 + \log x) + a^x \log a$	1 1 1
	d)	<p>Find $\frac{dy}{dx}$ if $y = \log [x^2 - 2x + \sin x]$</p> <p>Ans $y = \log [x^2 - 2x + \sin x]$</p> $\frac{dy}{dx} = \frac{1}{x^2 - 2x + \sin x} \frac{d}{dx} (x^2 - 2x + \sin x)$ $\frac{dy}{dx} = \frac{1}{x^2 - 2x + \sin x} (2x - 2 + \cos x)$	04 4
	e)	<p>Find $\frac{dy}{dx}$ if $y = \tan^{-1} \left[\frac{x}{(1+12x^2)} \right]$</p> <p>Ans $y = \tan^{-1} \left[\frac{x}{(1+12x^2)} \right]$</p> $y = \tan^{-1} \left[\frac{4x - 3x}{(1+4x \times 3x)} \right]$ $y = \tan^{-1} 4x - \tan^{-1} 3x$ $\frac{dy}{dx} = \frac{1}{1+(4x)^2} \times 4 - \frac{1}{1+(3x)^2} \times 3$ $= \frac{4}{1+16x^2} - \frac{3}{1+9x^2}$	04 1 1 2



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
4.	f)	Find $\frac{dy}{dx}$ if $x^2 + y^2 = 4xy$	04
	Ans	$x^2 + y^2 = 4xy$ $2x + 2y \frac{dy}{dx} = 4 \left(x \frac{dy}{dx} + y \cdot 1 \right)$ $2x + 2y \frac{dy}{dx} = 4x \frac{dy}{dx} + 4y$ $2y \frac{dy}{dx} - 4x \frac{dy}{dx} = 4y - 2x$ $\frac{dy}{dx} (2y - 4x) = 4y - 2x$ $\frac{dy}{dx} = \frac{4y - 2x}{2y - 4x}$ $\frac{dy}{dx} = \frac{2y - x}{y - 2x}$	<p>1</p> <p>1</p> <p>1</p> <p>1</p>
5.		Solve any FOUR of the following:	16
	a)	Evaluate: $\lim_{x \rightarrow 0} \frac{\log(a+x) - \log a}{x}$	04
	Ans	$\lim_{x \rightarrow 0} \frac{\log(a+x) - \log a}{x}$ $= \lim_{x \rightarrow 0} \frac{\log\left(\frac{a+x}{a}\right)}{x}$ $= \lim_{x \rightarrow 0} \log\left(\frac{a+x}{a}\right)^{\frac{1}{x}}$ $= \lim_{x \rightarrow 0} \log\left(1 + \frac{x}{a}\right)^{\frac{a}{x} \cdot \frac{1}{a}}$ $= \log e^{\frac{1}{a}} = \frac{1}{a}$	<p>1</p> <p>1</p> <p>1</p> <p>1</p>
	b)	Evaluate: $\lim_{x \rightarrow 0} \frac{3 \sin x - \sin 3x}{x^3}$	04
	Ans	$\lim_{x \rightarrow 0} \frac{3 \sin x - \sin 3x}{x^3}$	



Q. No.	Sub Q.N.	Answers	Marking Scheme
5.		$= \lim_{x \rightarrow 0} \frac{3 \sin x - (3 \sin x - 4 \sin^3 x)}{x^3}$ $= \lim_{x \rightarrow 0} \frac{3 \sin x - 3 \sin x + 4 \sin^3 x}{x^3}$ $= \lim_{x \rightarrow 0} \frac{4 \sin^3 x}{x^3}$ $= \lim_{x \rightarrow 0} 4 \left(\frac{\sin x}{x} \right)^3 = 4 \times 1^3 = 4$	1 ½ ½ 2
	c)	Using Bisection method find approximate root of the equation $x^3 - 4x - 9 = 0$	04
	Ans	<p>Let $f(x) = x^3 - 4x - 9$</p> <p>$f(2) = -9 < 0$</p> <p>$f(3) = 6 > 0$</p> <p>∴ the root is in (2,3)</p> $x_1 = \frac{a+b}{2} = \frac{2+3}{2} = 2.5$ <p>$f(2.5) = -3.375 < 0$</p> <p>∴ the root is in (2.5,3)</p> $x_2 = \frac{x_1+b}{2} = \frac{2.5+3}{2} = 2.75$ <p>$f(2.75) = 0.797 > 0$</p> <p>the root is in (2.5, 2.75)</p> $x_3 = \frac{x_1+x_2}{2} = \frac{2.5+2.75}{2} = 2.625$ <p>OR</p> <p>Let $f(x) = x^3 - 4x - 9$</p> <p>$f(2) = -9 < 0$</p> <p>$f(3) = 6 > 0$</p> <p>∴ the root is in (2,3)</p>	1 1 1 1 1



WINTER- 18 EXAMINATION

17216

Subject Name: Engineering Mathematics

Model Answer

Subject Code

Q. No.	Sub Q.N.	Answers	Marking Scheme																				
5.		<table border="1"> <thead> <tr> <th>Iteration</th> <th>a</th> <th>b</th> <th>$x = \frac{a+b}{2}$</th> <th>$f(x)$</th> </tr> </thead> <tbody> <tr> <td>I</td> <td>2</td> <td>3</td> <td>2.5</td> <td>-3.375</td> </tr> <tr> <td>II</td> <td>2.5</td> <td>3</td> <td>2.75</td> <td>0.797</td> </tr> <tr> <td>III</td> <td>2.5</td> <td>2.75</td> <td>2.625</td> <td>----</td> </tr> </tbody> </table>	Iteration	a	b	$x = \frac{a+b}{2}$	$f(x)$	I	2	3	2.5	-3.375	II	2.5	3	2.75	0.797	III	2.5	2.75	2.625	----	1+1+1
Iteration	a	b	$x = \frac{a+b}{2}$	$f(x)$																			
I	2	3	2.5	-3.375																			
II	2.5	3	2.75	0.797																			
III	2.5	2.75	2.625	----																			
	d)	Find approximate root of the equation $x \cdot \log_e x = 1.2$ by using bisection method.	04																				
	Ans	$x \cdot \log_e x = 1.2$ $x \cdot \log_e x - 1.2 = 0$ $f(x) = x \cdot \log_e x - 1.2$ $f(1) = -1.2 < 0$ $f(2) = 0.186 > 0$ \therefore the root is in (1,2) $x_1 = \frac{a+b}{2} = \frac{1+2}{2} = 1.5$ $f(1.5) = -0.592 < 0$ \therefore the root is in (1.5,2) $x_2 = \frac{x_1+b}{2} = \frac{1.5+2}{2} = 1.75$ $f(1.75) = -0.221 < 0$ the root is in (1.75,2) $x_3 = \frac{x_2+b}{2} = \frac{1.75+2}{2} = 1.875$ OR Let $f(x) = x \log_e x - 1.2$ $f(1) = -1.2 < 0$ $f(2) = 0.186 > 0$ \therefore the root is in (1,2)	1 1 1 1																				



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme																				
5.		<table border="1"> <thead> <tr> <th>Iteration</th> <th>a</th> <th>b</th> <th>$x = \frac{a+b}{2}$</th> <th>$f(x)$</th> </tr> </thead> <tbody> <tr> <td>I</td> <td>1</td> <td>2</td> <td>1.5</td> <td>-0.592</td> </tr> <tr> <td>II</td> <td>1.5</td> <td>2</td> <td>1.75</td> <td>-0.221</td> </tr> <tr> <td>III</td> <td>1.75</td> <td>2</td> <td>1.875</td> <td>----</td> </tr> </tbody> </table>	Iteration	a	b	$x = \frac{a+b}{2}$	$f(x)$	I	1	2	1.5	-0.592	II	1.5	2	1.75	-0.221	III	1.75	2	1.875	----	1+1+1
Iteration	a	b	$x = \frac{a+b}{2}$	$f(x)$																			
I	1	2	1.5	-0.592																			
II	1.5	2	1.75	-0.221																			
III	1.75	2	1.875	----																			
	e)	Find the root of the equation $x^2 + x - 3 = 0$ using Regula-Falsi method.	04																				
	Ans	<p>Let $f(x) = x^2 + x - 3$</p> <p>$f(1) = -1 < 0$</p> <p>$f(2) = 3 > 0$</p> <p>\therefore the root is in (1,2)</p> $x_1 = \frac{af(b) - bf(a)}{f(b) - f(a)}$ $= \frac{1(3) - 2(-1)}{3 - (-1)} = 1.25$ <p>$f(x_1) = -0.188 < 0$</p> <p>\therefore the root is in (1.25,2)</p> $x_2 = \frac{1.25(3) - 2(-0.188)}{3 + 0.188} = 1.294$ <p>$f(x_2) = -0.032 < 0$</p> <p>\therefore the root is in (1.294,2)</p> $x_3 = \frac{1.294(3) - 2(-0.032)}{3 + 0.032} = 1.301$ <p>OR</p> <p>Let $f(x) = x^2 + x - 3$</p> <p>$f(1) = -1 < 0$</p> <p>$f(2) = 3 > 0$</p> <p>\therefore the root is in (1,2)</p>	1 1 1 1																				



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme																								
5.		<table border="1"> <thead> <tr> <th>a</th> <th>B</th> <th>$f(a)$</th> <th>$f(b)$</th> <th>$x = \frac{af(b) - bf(a)}{f(b) - f(a)}$</th> <th>$f(x)$</th> </tr> </thead> <tbody> <tr> <td>1</td> <td>2</td> <td>-1</td> <td>3</td> <td>1.25</td> <td>-0.188</td> </tr> <tr> <td>1.25</td> <td>2</td> <td>-0.188</td> <td>3</td> <td>1.294</td> <td>-0.032</td> </tr> <tr> <td>1.294</td> <td>2</td> <td>-0.032</td> <td>3</td> <td>1.301</td> <td>---</td> </tr> </tbody> </table>	a	B	$f(a)$	$f(b)$	$x = \frac{af(b) - bf(a)}{f(b) - f(a)}$	$f(x)$	1	2	-1	3	1.25	-0.188	1.25	2	-0.188	3	1.294	-0.032	1.294	2	-0.032	3	1.301	---	1+1+1
a	B	$f(a)$	$f(b)$	$x = \frac{af(b) - bf(a)}{f(b) - f(a)}$	$f(x)$																						
1	2	-1	3	1.25	-0.188																						
1.25	2	-0.188	3	1.294	-0.032																						
1.294	2	-0.032	3	1.301	---																						
	f)	Use Newton-Raphson method to find root of equation $x^2 + x - 3 = 0$ (up to three iterations)	04																								
	Ans	<p>Let $f(x) = x^2 + x - 3$</p> <p>$f(1) = -1 < 0$</p> <p>$f(2) = 3 > 0$</p> <p>$f'(x) = 2x + 1$</p> <p>Initial root $x_0 = 1$</p> <p>$\therefore f'(1) = 3$</p> <p>$x_1 = x_0 - \frac{f(x_0)}{f'(x_0)} = 1 - \frac{f(1)}{f'(1)} = 1.333$</p> <p>$x_2 = 1.333 - \frac{f(1.333)}{f'(1.333)} = 1.303$</p> <p>$x_3 = 1.303 - \frac{f(1.303)}{f'(1.303)} = 1.303$</p> <p><i>OR</i></p> <p>Let $(x) = x^2 + x - 3$</p> <p>$f(1) = -1 < 0$</p> <p>$f(2) = 3 > 0$</p> <p>$f'(x) = 2x + 1$</p> <p>Initial root $x_0 = 1$</p>	<p>$\frac{1}{2}$</p> <p>$\frac{1}{2}$</p> <p>1</p> <p>1</p> <p>1</p> <p>$\frac{1}{2}$</p> <p>$\frac{1}{2}$</p>																								



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
		$x_i = x - \frac{f(x)}{f'(x)} = x - \frac{x^2 + x - 3}{2x + 1}$ $= \frac{2x^2 + x - x^2 - x + 3}{2x + 1}$ $= \frac{x^2 + 3}{2x + 1}$ $x_1 = 1.333$ $x_2 = 1.303$ $x_3 = 1.303$	1 1 1
6.		<p>Solve any <u>FOUR</u> of the following:</p>	16
	a)	<p>If $y = 2 \cos[\log x] + 3 \sin[\log x]$ prove that $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$</p>	04
	Ans	$y = 2 \cos[\log x] + 3 \sin[\log x]$ $\frac{dy}{dx} = -2 \sin[\log x] \times \frac{1}{x} + 3 \cos[\log x] \times \frac{1}{x}$ $x \frac{dy}{dx} = -2 \sin[\log x] + 3 \cos[\log x]$ $x \frac{d^2 y}{dx^2} + \frac{dy}{dx} \cdot 1 = -2 \cos[\log x] \times \frac{1}{x} - 3 \sin[\log x] \times \frac{1}{x}$ $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} = -(2 \cos[\log x] + 3 \sin[\log x])$ $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} = -y$ $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$	1 ½ 1 ½ ½
	b)	<p>If $x = a[\theta - \sin \theta]$ and $y = a[1 - \cos \theta]$ find $\frac{dy}{dx}$ and $\frac{d^2 y}{dx^2}$ at $\theta = \frac{\pi}{4}$</p>	04
	Ans	$x = a[\theta - \sin \theta], y = a[1 - \cos \theta]$ $\therefore \frac{dy}{d\theta} = a \sin \theta$ $\therefore \frac{dx}{d\theta} = a(1 - \cos \theta)$	½ ½



Q. No.	Sub Q.N.	Answers	Marking Scheme
6.	b)	$\therefore \frac{dy}{dx} = \frac{\frac{dy}{d\theta}}{\frac{dx}{d\theta}}$ $\therefore \frac{dy}{dx} = \frac{a \sin \theta}{a(1 - \cos \theta)} = \frac{\sin \theta}{1 - \cos \theta}$ $\therefore \frac{dy}{dx} = \frac{2 \sin\left(\frac{\theta}{2}\right) \cos\left(\frac{\theta}{2}\right)}{2 \sin^2\left(\frac{\theta}{2}\right)} = \cot\left(\frac{\theta}{2}\right)$ $\therefore \frac{d^2 y}{dx^2} = -\operatorname{cosec}^2\left(\frac{\theta}{2}\right) \times \frac{1}{2} \times \frac{d\theta}{dx}$ $\therefore \frac{d^2 y}{dx^2} = -\operatorname{cosec}^2\left(\frac{\theta}{2}\right) \times \frac{1}{a(1 - \cos \theta)} \times \frac{1}{2}$ $\therefore \frac{d^2 y}{dx^2} = -\frac{1}{4a} \operatorname{cosec}^4\left(\frac{\theta}{2}\right)$ <p>at $\theta = \frac{\pi}{4}$</p> $\frac{dy}{dx} = \cot\left(\frac{\pi}{8}\right) = 2.414$ $\therefore \frac{d^2 y}{dx^2} = -\frac{1}{4a} \operatorname{cosec}^4\left(\frac{\pi}{8}\right) = -\frac{1}{a} \times 11.657$	<p>1/2</p> <p>1/2</p> <p>1/2</p> <p>1/2</p> <p>1/2</p>
	c)	<p>Solve the following equations by Gauss elimination method.</p> $4x + y + 2z = 12, \quad -x + 11y + 4z = 33, \quad 2x - 3y + 8z = 20$	04
	Ans	$4x + y + 2z = 12$ $-x + 11y + 4z = 33$ $2x - 3y + 8z = 20$ $4x + y + 2z = 12$ $-4x + 44y + 16z = 132$ $+ \underline{\hspace{2cm}}$ $45y + 18z = 144$ $\therefore 5y + 2z = 16$ $2x - 3y + 8z = 20$ $-2x + 22y + 8z = 66$ $+ \underline{\hspace{2cm}}$ $19y + 16z = 86$	1



WINTER- 18 EXAMINATION

Subject Name: Engineering Mathematics

Model Answer

Subject Code:

17216

Q. No.	Sub Q.N.	Answers	Marking Scheme
6.		$40y + 16z = 128$ $19y + 16z = 86$ $- \frac{\quad}{\quad}$ $21y = 42$ $\therefore y = 2$ $z = 3$ $x = 1$ <p><i>Note: In the above solution, first x is eliminated and then z is eliminated to find the value of y first. If in case the problem is solved by elimination of another unknown i. e., either first y or z, appropriate marks to be given as per above scheme of marking.</i></p> <hr/> <p>d) Solve the following equations by using Jacobi's method $20x + y - 2z = 17$, $3x + 20y - z + 18 = 0$, $2x - 3y + 20z = 25$</p> <p>Ans $20x + y - 2z = 17$, $3x + 20y - z = -18$, $2x - 3y + 20z = 25$</p> $x = \frac{1}{20}(17 - y + 2z)$ $y = \frac{1}{20}(-18 - 3x + z)$ $z = \frac{1}{20}(25 - 2x + 3y)$ <p>Starting with $x_0 = y_0 = z_0 = 0$</p> $x_1 = 0.85$ $y_1 = -0.9$ $z_1 = 1.25$ $x_2 = 1.02$ $y_2 = -0.965$ $z_2 = 1.03$ $x_3 = 1.001$ $y_3 = -1.002$ $z_3 = 1.003$ <hr/>	<p>1</p> <p>1</p> <p>1</p> <p>04</p> <p>1</p> <p>1</p> <p>1</p>

